Outdoor Bench Pre-K/Grade-3+

Assembly Guide
Copermcus

Check out our other products online at www.copernicused.com
educational products

For assistance, please contact us by telephone at 1-800-267-8494 or email at info@copernicused.com.
Have your packing slip ready for reference.

0‘
e

1 Please Recycle

ODBO01/0ODBO02 Version A - Released September 24, 2025 - Copernicus Educational Products Inc.



Customer Service & Warranty Information

Dear Educator,

Every day we see and hear stories of teachers going above and beyond to help students thrive. Thank you so much for all
you do - you are awesome, and you make a difference.
Thank you for inspiring us.

If you have any questions, concerns or ideas on how we can improve please let us know by contacting our Customer
Solutions Ninjas at 1-800-267-8494 or info@copernicused.com.

Happy teaching,

Kaylyn Belcourt, President &/ J&_Lﬁ"u;;h& -
kaylyn@copernicused.com T

Need Support? Check out some of our

For missing parts and other issues regarding your product: Have a Question? other great products!
Please contact Customer Service, where we will be happy to help. Bl rar i E [w] =" [w]
- i =

Telephone: 1-800-267-8494, Monday - Friday 8:00am - 4:30 pm EST
Email: info@copernicused.com

Email Customer Service www.copernicused.com

Make a Warranty Claim

. We offer a Lifetime Warranty on almost everything we make. Please call 7-800-267-8494 or email

L'fNeaHH‘e info@copernicused.com to start your warranty claim. Proof of purchase will be required upon warranty claim (i.e.
: copy of invoice).

_ Tips for Assembly

Before You Begin: Watch for These Helpful Symbols:
+ Lay out and identify all of the included parts.
« The hardware has been packed according to step. e o For safety, please have
+ Read the assembly guide over once to familiarize yourself with them. ' ' someone help you when
) working on steps

As You Assemble the Unit: 2personTask  displaying this symbol.
« Follow the steps in sequence.
 Before beginning each step, find the part(s) that you need for that step. The symbol denotes a
» The title of each step states what you will be doing. Review the text and ' step needing extra

the pictures as you build the unit. attention to ensure it is

- done correctly.

“ Important Information! Warning!

Please read the warnings below for important safety information regarding your product. Failure to read these
warnings or to follow the instructions below could result in personal injury or damage to your product that could
void your warranty.

In its unassembled state, this product contains parts that can be hazardous to small children.

Small Parts .

4 This product should be assembled by an adult.

®

[ Adult . . ..

' ' Supervision This product is to be used under the supervision of an adult.

>§ No This product does NOT require maintenance. Repairs should only be performed by
Maintenance  guthorized personnel. Please contact customer service if repairs are required.

2 ODBO01/0DB02 Version A - Released September 24, 2025 - Copernicus Educational Products Inc.



Before beginning, you should have:

—— Additional tools required:
7;;‘ . \(' =
I + + Drill
Adjustable wrench 1x Rubber Mallet 1x &
J

\.

— Hardware Actual Size

~— ODB01/0DB02 N

Bench T , .
ench Top 5/16"x 1-1/2" Carriage Bolt, @ 5/16” Galvanized Nut

Galv. (43307) (4302143)

“ U] )

5/16 Split Lock Washer, 10 x 1" Wood Screw
Galv. (430250) Round Head

4x (430041) )

6x

5/16"x 1-1/2" Carriage Bolt 5/16" Galvanized Nut

(43307) (4302143)
o ’///////////////////IIED o @

5/16\Split Lock Washer Galy. Adjustable wrench  Rubber Mallet

(430250) 1x 1x
ax @

Attach the Bench Legs to Bench Top

X

Hammer the bolts into the

pre-drilled holes until
they cannot turn. /

Tighten the nuts
until the bolt heads
B are fully seated.

ODBO01/0ODBO02 Version A - Released September 24, 2025 - Copernicus Educational Products Inc.



You will need: (Not to Scale) Hardware: (Not to Scale)

! 10 x 1" Wood Screw ~r
Round Head Wﬁ

Bracket ! (430041) Drill ‘l
1x o <VLTILL ]
-

Attach the Bracket

Turn the Bench right side up

4 ODBO01/0DB02 Version A - Released September 24, 2025 - Copernicus Educational Products Inc.



	1: TITLE
	2: WARRANTY
	3: Step 1
	Page 4

